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al11XxX1 + a12x2 + + ainXn = b1
a21X1 + a22x2 + + a2nXn = b2

amiX1l + am2X2 + + amnXn :@

z=Cixi+Cxe+ A Cokr

—




—

C=(CLC2, .Cn)

allal2 ain X1
a2l1a2?2 azn X2
A= X= :
amlam?2 amn Xn
b1
h2
B= : minimize Z = CX

bm subject to AX.=B, X



(slack variable) Xn+i

alixXi + a12xz + + ainXn b1
|
alixXi + a12xz + + ainXn + Xn+i = b1

(surplus variable) Xn+i
a11X1 + a12x2 + + a1nXn b1

|
alixXi + a12xz + + ainXn -- Xn+i = b1



Xk
- Xk
Xk = Xk' -- Xk" XK’ XKk

al1X1 + a12xz + + ainXn b1
!
a11(X1'--X1")+ a12(X2'--X2") + + ain(Xn--Xn") b1






Maxmize Z = 2.5X1 + 5X2 + 3.4X3
Subject to
2X1 + 10X2 + 4X3 425
6X1+ 5X2+ 8X3 400
X1+ 10X2 + 8X3 425
X1 X2X3 0



Maxmize Z = 2.5X1 + 5X2 + 3.4X3
Subject to
2X1 + 10X2 + 4X3 425
6X1+ 5X2+ 8X3 400
X1+ 10X2 + 8X3 425
X1 X2X3 0

Minimize Z = --2.5X1 -- 5X2 -- 3.4X3

Subject to
2X1 + 10X2 + 4X3+X4 = 425

6X1 + 5X2 + 8X3+X5 = 400
X1 + 10X2 + 8X3+X6 = 425
X1 X2 X3 X4 X5 X6 0




o minimize Z = CX
subjectto AX=B, X O

2 10 4
A=| 6 5 8 X=(X1 X2 X3)
7 10 8
B=(425,400,600)

2 10 4
A=| 6 5 38
/7 10 8

N

, X=(X1 X2 X3 [)(4 X5 XGJ)

=

ok o
= O

g=x=r

B=(425,400,600)



allal? ain
azlaz? azn

amlam?2 amn

n>m, rank(A)=m






